CMR

INSTITUTE OF USN g
TECHNOLOGY e
Internal Assessment Test — 111 March 2024
Sub: | AV Mathematics-I11 for EC Engineering Code: BMATEC301
Date: | 04/03/2024 Duration: |90 mins | Max Marks: | 50 Sem: |1l | Branch: ECE
Question 1 is compulsory and Answer any 6 from the remaining questions.
Marks OBE
CO [RBT
Obtain the lines of regression and hence find the coefficient of correlation for the data.
[ «x 1 3 4 2 5 8 9 10 13 15 |8 cos5| L3
y 8 6 10 8 12 16 16 10 32 32
2|Solve (D2 — 4D + 3)y=(e* + 1)2. [71| cos | L3
2
3 Solve x? Zx—}zl — 4x2—z + 6y=sin(2 log x). [71| coa | L3
Py 4B g ag [7]
4 (Solve —— +4-=+ 4y=3sinx + 4 cos x. CO4 | L3
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Find a least square straight line for the following data.

between their lines of regression is tan™? (g) show that o,,=20,, or g,,=20,.

X 1 2 3 4 5 6 [71 | cos | L3
y 6 4 3 5 4 2
Determine rank correlation for the following data which shows the marks
obtained in two quizzes in mathematics.
X 6 5 8 8 7 6 | 10 | 4 9 7 | [l | cos | L3
y 8 7 7 10 5 8 10 6 8 6
Compute the rank correlation coefficient for the following data.
X 68 | 64 | 75 [ 50 [ 64 [ 80 | 75 | 40 [ 55 [ 64 | [71 | cos | L3
y 62 58 68 45 81 60 68 48 50 70
If the coefficient of correlation between two variables x and y is 0.5 and the acute angle
. . _1(3 ~ - [71 | cos5 | L3
between their lines of regression is tan (E) show that o,,=20,, or 0,,=20,.
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